
WIDE-INPUT POWER SUPPLY

POWER SUPPLY OUTPUT CABLE
 CONNECT TO COMPATIBLE 

DOCKING STATION
(HW-EL-0078)

HARDWARE KIT
ITEM #1

2X  ( 2.20 in )
     [55.88 mm] 

  2X   ( 5.56 in )
        [223.52 mm] 

PANEL MOUNTING HOLE DIMENSIONS

VIEW A

WIDE-INPUT POWER SUPPLY
INSTALLATION INSTRUCTIONS:
NOTE:

Verify that the power supply you received is compatible with the intended docking 1.
station/device to prevent accidental damage.
This product is designed for use with forklifts and similarly powered industrial 2.
vehicles.
The power supply cannot be mounted on the docking station. Select a remote 3.
mounting location suited to your specific installation environment.
If you choose to mount the power supply to a surface other than sheet metal, 4.
please substitute the appropriate hardware and fasten securely.
If it is necessary to pre-drill holes, the required dimensions are noted in Panel 5.
Mounting Hole Dimensions (View A). Be certain to drill holes of an appropriate size 
for the fastener type selected.
Power supply must be mounted to allow the power cables to be plugged into the 6.
docking station. Be certain to provide an adequate service loop so as not to restrict 
the intended full range of motion of your mounting device, or any installed 
accessories.

INSTALLATION:
Determine location for mounting wide-input power supply.1.
If sheet metal, use 4x #10-16 x 3/4" long self-tapping screws (Item #1) supplied in 2.
hardware kit to mount power supply. Note: hex drive size for Item #1 is 5/16".
Use the appropriate torque for the #10-16 x 3/4" long self-tapping screws (Item #1)  3.
for the material type and thickness of your specific installation surface. Do not 
overtighten fasteners.
Once wide-input power supply is securely mounted, input cable attached to the 4.
power supply can now be connected to an appropriate power source using exposed 
wires.
Power supply output cable can now be connected to docking station and properly 5.
strain relieved using zip ties (not included with power supply).
Note that green indicator light on power supply will illuminate when all connectors 6.
have been properly secured. For further information, refer to Lind documentation 
supplied with this product.

HARDWARE KIT CONTENTS- HAVIS P/N HWK-0053 OR HWK-0012
ITEM # DESCRIPTION QTY.

1 SELF-TAPPING SCREW, #10-16 X 3/4" LONG HEX WASHER HEAD 4

PRODUCT DESCRIPTION

DRAWING NO.

REV. DATE

01-27-23

10-32V ISOLATED POWER SUPPLY, 72" 
HARDWIRED BARE-WIRE INPUT CABLE. 72" 

OUTPUT CABLE W/ SWITCHCRAFT 
CONNECTORWARNING:  ALL HAVIS INC. PRODUCTS ARE DESIGNED WITH SAFETY OF USE AND INSTALLATION IN MIND.  HOWEVER, 

IT IS THE SOLE RESPONSIBILITY OF THE OWNER/OPERATOR OF A VEHICLE USING HAVIS INC. MOUNTING AND 
DOCKING EQUIPMENT, TO INSURE THAT THE EQUIPMENT IS INSTALLED SO THAT IT WILL NOT INTERFERE WITH VEHICLE 
OPERATION, INTERFERE WITH SAFETY DEVICES, OBSTRUCT VIEW OF DRIVING CONDITIONS, OR IN ANY WAY 
DEGRADE OCCUPANT SAFETY.  IMPROPER INSTALLATION CAN CAUSE SERIOUS INJURY IN THE EVENT OF AN 
ACCIDENT.  INSTALLATION SHOULD ONLY BE PERFORMED BY QUALIFIED PROFESSIONALS.  COMPUTERS AND 
MOTION DEVICES MUST BE MOVED TO AND STOWED/SECURED IN THEIR SAFE DRIVING POSITIONS BEFORE 
OPERATING VEHICLE.

WWW.HAVIS.COM
1-800-524-9900

F-730-019 REV B

LPS-174-INST_1-23


	Sheet2
	Drawing View9
	Drawing View10


